

1 Mennyit érnek a síkidomok?

$$\begin{aligned} \bullet &\cdot \bullet = 25 \\ \bullet &\cdot \bullet + \text{pentagon} = 31 \\ \text{pentagon} &\cdot \text{pentagon} - \triangle = 28 \\ \text{pentagon} &\cdot \square + \triangle = 62 \end{aligned}$$

$\triangle = \underline{\quad}$ $\bullet = \underline{\quad}$ $\text{pentagon} = \underline{\quad}$ $\square = \underline{\quad}$

2 Mennyit érnek a síkidomok?

$$\begin{aligned} \bullet &\cdot \bullet = 81 \\ \bullet &\cdot \text{pentagon} = 54 \\ \bullet &\cdot \text{pentagon} + \triangle = 61 \\ \triangle &\cdot \bullet + \text{pentagon} \cdot \square = 93 \end{aligned}$$

$\triangle = \underline{\quad}$ $\bullet = \underline{\quad}$ $\text{pentagon} = \underline{\quad}$ $\square = \underline{\quad}$

3 Mennyit érnek a síkidomok?

$$\begin{aligned} \bullet &\cdot \bullet \cdot \bullet = 27 \\ \bullet &+ \text{pentagon} = 13 \\ \text{pentagon} &\cdot \bullet - \triangle = 23 \\ \triangle &\cdot \bullet + \square \cdot \text{pentagon} = 41 \end{aligned}$$

$\triangle = \underline{\quad}$ $\bullet = \underline{\quad}$ $\text{pentagon} = \underline{\quad}$ $\square = \underline{\quad}$

4 Mennyit érnek a síkidomok?

$$\begin{aligned} \bullet &\cdot \bullet = 49 \\ \text{pentagon} &\cdot \bullet + \text{pentagon} = 72 \\ (\bullet + \text{pentagon}) &\cdot \triangle = 32 \\ \triangle &\cdot \bullet + \text{pentagon} \cdot \square = 59 \end{aligned}$$

$\triangle = \underline{\quad}$ $\bullet = \underline{\quad}$ $\text{pentagon} = \underline{\quad}$ $\square = \underline{\quad}$